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QUESTION 1

Refer to the exhibit.

Application requires database and [P address.

Lpplication

R

IP Address

A Fileshare resource has faulted and is failing over to the second node in the cluster. Which resource should the
administrator expect to come online first on the failover node?

A. The lowest child resource is brought online first.

B. The lowest parent resource is brought online first.
C. The highest child resource is brought online first.
D. The highest parent resource is brought online first.

Correct Answer: A

QUESTION 2

Which Microsoft SharePoint 2010 installation mode is supported by Veritas Storage Foundation and High Availability
Solutions 6.0 for Windows?

A. complete
B. stand-alone
C. custom

D. local

Correct Answer: A

QUESTION 3

Which two actions does dynamic disk group split and join enable? (Select two.)
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A. moving LUNs between disk groups

B. joining two volumes between two sites

C. moving disks between volumes

D. joining disk groups between two servers
E. performing offhost processing for backups

Correct Answer: AE

QUESTION 4

A city-wide power failure caused a data center to power down all systems. An organization has a three node cluster and
one node failed to start after the power was restored. The network administrator noticed that a critical business
application is unavailable and has determined that the cause is that the cluster is in a waiting state. It is critical to get the
business application started immediately. What can the administrator do to force the cluster to start on one of the
working nodes?

A. hacf -verify

B. hastart -all

C. net start vescomms

D. gabconfig —cx

Correct Answer: D

QUESTION 5

A disk displays an X symbol in a red circle. What does this indicate?
A. There is a potential problem and it should be fixed immediately.
B. The disk is inaccessible, but the data is healthy.

C. There is a disk failure and it should be fixed immediately.

D. The disk is disconnected, but the data is healthy.

Correct Answer: C
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